



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(4 + \frac{1}{3})^2 - \frac{2}{3} + 4^2 - \frac{2}{3} =$$

$$(5 - \frac{1}{3})^2 + \frac{1}{4} + \frac{1}{6} - 4^2 =$$

$$(4 + \frac{2}{5})^2 - \frac{1}{6} - 5^2 - \frac{3}{2} =$$

$$(4 + \frac{2}{3})^2 + \frac{1}{2} + 2^2 \times \frac{3}{2} =$$

$$((\frac{1}{6})^2 - \frac{2}{5}) \times \frac{2}{3} + (\frac{1}{5} - \frac{1}{3})^2 =$$

$$(3 + \frac{1}{2})^2 + \frac{2}{5} - \frac{3}{2} + 2^2 =$$

$$(4 + \frac{1}{2})^2 - \frac{3}{5} \times 5^2 + \frac{1}{4} =$$

$$(\frac{3}{4} - \frac{3}{5})^2 + \frac{3}{2}(\frac{1}{2} + (\frac{1}{5})^2) =$$

$$((\frac{3}{4})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{3}{2} - \frac{1}{3})^2 =$$

$$(\frac{2}{3} + \frac{3}{5})^2 + \frac{1}{3}(\frac{3}{2} - (\frac{1}{3})^2) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(4 + \frac{1}{3})^2 - \frac{2}{3} + 4^2 - \frac{2}{3} = \frac{301}{9} = 33\frac{4}{9}$$

$$(5 - \frac{1}{3})^2 + \frac{1}{4} + \frac{1}{6} - 4^2 = \frac{223}{36} = 6\frac{7}{36}$$

$$(4 + \frac{2}{5})^2 - \frac{1}{6} - 5^2 - \frac{3}{2} = (-\frac{548}{75}) = (-7\frac{23}{75})$$

$$(4 + \frac{2}{3})^2 + \frac{1}{2} + 2^2 \times \frac{3}{2} = \frac{509}{18} = 28\frac{5}{18}$$

$$((\frac{1}{6})^2 - \frac{2}{5}) \times \frac{2}{3} + (\frac{1}{5} - \frac{1}{3})^2 = (-\frac{311}{1350})$$

$$(3 + \frac{1}{2})^2 + \frac{2}{5} - \frac{3}{2} + 2^2 = \frac{303}{20} = 15\frac{3}{20}$$

$$(4 + \frac{1}{2})^2 - \frac{3}{5} \times 5^2 + \frac{1}{4} = \frac{11}{2} = 5\frac{1}{2}$$

$$(\frac{3}{4} - \frac{3}{5})^2 + \frac{3}{2}(\frac{1}{2} + (\frac{1}{5})^2) = \frac{333}{400}$$

$$((\frac{3}{4})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{3}{2} - \frac{1}{3})^2 = (-\frac{383}{288}) = (-1\frac{95}{288})$$

$$(\frac{2}{3} + \frac{3}{5})^2 + \frac{1}{3}(\frac{3}{2} - (\frac{1}{3})^2) = \frac{2791}{1350} = 2\frac{91}{1350}$$